Which way and why?
Using jottings / a numberline and show which strategy you would use to calculate these addition and subtraction questions
As an extra challenge, can you name your strategy? (Don’t worry if you cant!)
624 – 210

120 – 66

742 – 521

273 – 59

513 – 48

608 - 180

972 – 42 – 27

1 668 – 1 557

10 000 – 3 990

2.0 – 1.3

823 – 457.3

23.2 + 56.3 – 23.2


526 + 300

253 + 199

17 + 12 + 3 + 19

632 + 125

70 + 50 + 30

167 + 48

21.2 + 43.1

223 + 154 + 377

7 000 + 9 000

45 632 + 300

355 + ? = 1000

234 + ? = 234 + 156


